D1vISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—

2y 11416 =7 = 200 1012 +5 =
22) 4590 + 1 = 27 13039 +8 =
23 6271 +9 = 228) 13863 + 2 =
21 41632 + 6 = 220) 23206 + 3 =
215) 63822 + 7 = 230) 88489 + 10 =
216) 19630 + 3 = 231 38570 + 7 =
an) 12447 =6 = 282) 12345 + 2 =
215) 36385 + 5 = 283) 2214 +4 =
219) 40980 + 8 = 234 24196 + 7 =
2200 7885 + 1 = 235 29464 + 4 =
21 57316 +6 = 236) 18362 + 2 =
222) 11145 +2 = 27 69668 + 8 =
223) 3506 = 3 = 238) 26156 - 7 =
240 19176 + 2 = 29 78721 + 10 =
25 67633 = & = 210) 45529 — 7 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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